BRI SRR Rk (o] - ")

X i=]
;@;j 32 fg Abely el 2= NEWE 20139 (A) | 20129 (B) | Z7(A-B)

37 23,552,358 21,262,620 2,289,738
23,552,358 21,262,620 2,289,738
22Ta8 21,169,327 19,759,072 1,410,255
AR A& 21,950 22,440 2490
AE A F4 s 16,370 16,390 2720
AT FdATA A 16,370 16,390 220
1 AGF Ty uSEA 13,390 13,410 220

7h AR EFAA AT 690

1) $o9ex 210-01 (20,0009 x 13%= 260

2) due 210-01 |14,0009 x 2,51 x 24 gk= 70

3) A (R 360

7} 715 210-06 |100,000€ x 21 = 200

W) %3 210-06 |50,0004 x 21 = 100

th AHAER| 210-06 30,0009 x 2% = 60

Lh A A A A A 9,600

1) $9g= 210-01 (20,0009 % 18%= 360

2) AR 210-07 |600,0009) x 3t} x 23] = 3,600

3) A=) 220-01 |47,0009 X 120% = 5,640

ot At g 4 210-01 |300,0009 x 17 = 300

e}, St 3] A 2 L 2k A A 5 2,800

1) A= 210-07 |600,0009 x 2t = 1,200

2) ¢15=o]n] 220-01 20,0009 x 80 = 1,600
2. ARF AR R A 2,980 2,980 0

7h AN S A0S 2,980

1) w7 210-01 |1,000,0009 x 278 = 2,000

2) WS-ojn 220-01 |70,00091 x 2 x 72 = 980
A AT 4,980 5,490 2510
PO DEE) 1,160 1,150 10
1. 2 AALDZE A 1,160 1,150 10

7} Ay EA 1,160

e 210-01 |20,0009 X 10%= 200
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EoRFE e ’ o ’ e ’ At =—A 5 ArEU < 2013 (A) 2012 (B) S#(A-B)
T A | A | Ak ) T o - -
2) 93| A S 210-06 | 80,0009 x 3% x 23] = 480
3) AApSor 210-06 40,0009 x 6% x 23] = 480
T YA T 3,820 4,340 A520
L AR 183829 940 1,800 A860
7h A A 3] 940
1) A 210-06 80,0009 1% X 53] = 400
2) ¥ 9] 3| 230-02 20,0009 X 97 X 33 = 540
2. LA a7} 1,180 1,780 2600
A Rt 1,180
) $og=x 210-01 |20,000€ X 15%= 300
2) 73 (b 220
7} 715 210-06 |70,000€ x 2% = 140
W) %3 210-06 |40,0004 x 2= 80
3) o] 220-01 20,0009 x 4% x 38]= 240
4) 323 230-02 20,0009 X7 X 33 = 420
3. ZYQAAYFE=A 1,700 760 940
7h e A TR 1115
D) $oex 210-01 20,0009 X 10%= 200
2) EujAn) 210-05 |7,000€ %67 x5d= 210
3) oln] 220—01 |47,0004€1 x 37 x 53] = 705
U oA 3 585
1) EZuj Al 210—-05 |7,000€9 <107 x5 = 350
2) ofn] 220-01 |47,00091 % 1% X 58] = 235
R v ZE 9 o] A} 7 7] 600 560 40
A FAAA B 600 560 40
1. AFFdAdAra A4 600 560 40
7F QUAES A 3 600
1) ¥ 210-06 |80,0004€1 % 17 x 43| = 320
9) & ] 3| 230-02 |20,0009) X 7% x 28] = 280
AF-F&TEA Y 718,339 635,033 83,306
NEAZP ML 37,133 36,230 903
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A Ras B b R e = P R (ce] ;A9
= o i=]
Ll ?}ij ’ ?“};3 ﬂg_g Abiu S il e 20139(A) | 2012d(B) | T#H(A-B)
AFHAENLRF 12,455 12,500 A45
1. A3 AR G g AL R F 12,455 12,500 A45
7}, Ab8) 7] o L wp A kLR 11,900
1) e1zn) 210—01 |10,0004€ % 1,000%-= 10,000
2) AESY 210—06 40,0009 X107 x 43| = 1,600
3) o3 230—02 20,0009 x 157 = 300
L ARS] A o v g 555
1) S99 210—01 20,0009 X 12%= 240
2) 211 210—-04 |7,00091 x45%= 315
20|01 X W93 22,598 23,730 A1,132
1. Zo A 73X ¢ 22,598 23,730 21,132
7}, 1A A 22,598
1) 298= 210—-01 |20,0009 X56% x 23]= 2,240
2) TE 210-01 |2,0009) x 5991 = 1,198
3) AFEn] 210—-01 |10,000¢ X 500%= 5,000
4) FAEY 210-01 20,0009 X 250%= 5,000
5) AT (LR 250
7h 7= 210-06 |160,0009 x 1= 160
W) =3 210-06 |90,0009 x 19 = 90
6) Al AA 7 210—07 |500,0009 x 14 = 500
7) A 1,750
7h) FA] 210-06 |50,00091 x 175 % 10% = 500
) A AH) (7)) 210-06 |30,0009 %10 = 300
oh) EA 444 o] 210—06 45,0009 X107 = 450
) A8l 7h=n) 210—06 50,0009 x 107 = 500
8) A oin 220-01 |20,0009 x 403 = 800
9) Zukn] 310-01 |40,0009) x 45 = 1,800
10) A1) 310—-01 |7,0004€] X 1207 x 44 = 3,360
11) d2o3 230—02 20,0004 X 77 x 53] = 700
ENgSTA L 2,080 0 2,080
1. At g I A4 2,080 0 2,080
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B R RS BT KR (9] - 2l
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Ll ?}ij ’ ?“é ’ ﬂg_g ’ Abiu S il e 20139(A) | 2012d(B) | T#H(A-B)
7h SAlsta Al g 91 8l 2,080
D #4d 720
7h 7= 210-06 |80,00091 x 21 x 33]= 480
W) %3 210-06 |40,000€ x 274 x 38| = 240
2) AAr 720
71 78 210-06 40,0009 x4 x 33] = 480
W) 23} 210-06 20,0009l x 47 x 33| = 240
3) &9 3 230-02 |20,0009 x 87 x 43| = 640
BRI 34,810 37,337 £2,527
AAFHNAA A 25,470 23,630 1,840
1L wdedAd= 4 25,470 23,630 1,840
7k AR A A 5,050
1) $adae= 210-01 |20,0009 X 62%= 1,240
2) ZdAr (Enh) 2,500
71 7= 210-06 |160,0009 %104 = 1,600
W) 3 210-06 90,0009 x 107 = 900
3) AR 210-07 55,0009 x 28] = 110
4) 893 230-02 20,0009 % 30% x 23] = 1,200
THNeI 7] 3,000
D) $98= 210-01 |20,0009 X 5% x 163]= 1,600
2) ojH] 220-01 |20,0009 % 7' x103]= 1,400
TR S R R e i e 17,420
1) 928w A 210-01 |100,0009 X 9= 900
2) FANAFF A 16,520
71 g e 210-01 20,0009 x 44%= 880
W) 2 a s 210-07 600,0009 % 2v) x4 = 4,800
t}h) o) 220-01 |70,00091 339 x4 = 9.240
2}) & 9] 3] 230-02 20,0009 x40 x 23] = 1,600
SHT IR 9,340 13,707 £4,367
1. e AZx 4 9,340 13,707 274,367
U ES R RN RS 9.340
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f?}jj ’ ?}2 ’ ﬂz ’ Apely el B R 20139 (A) | 20129 (®B) | ZZ(A-B)
1) S 210-01 |20,0009 X 60&= 1,200
2) A& ukyt 210-01 |6,000€ X 60%-= 360
3) ZAATE (AR 3,000
7h 71 & 210-06 |100,0009 %107 x 28] = 2,000
W) 23 210-06 |50,0009 X 107 x 23] = 1,000
4) Nt 210-07 [150,0009 X124 %29 = 300
5) 214 310-01 |7,000€ x 60 x 42 = 1,680
6) Z<ukn) 310-01 [40,0009 x 60 x 1= 2,400
7) & 2] 3 230—-02 |20,0009 X 107 x 23] = 400
BN PR S 11,640 11,640
A=A A8 E | ¢ 11,640 11,640
1. AXg R 7,800 7,800
7t 24" Ast 4,680
1) $9aF 210-01 |20,0009 x 10%= 200
2) Am gk 210-01 15,0009 X 40% % 38 = 1,800
3) ZHAFTE (AR 220
7} 715 210-06 |70,000€ x 2% = 140
W) 2% 210-06 | 40,0009 x 2% = 80
4) oln] 220—01 |20,000€ x5 x 213]= 2,100
5) & 2] 3 230-02 20,0009 x 9 x 28] = 360
S R R R el 3,120
1) $dgE 210-01 |20,0009 x 10%= 200
2) A=A 210-01 |15,0009 x 20%-= 300
3) ZHAETE (AN 220
71 7= 210-06 70,0009 X 2= 140
W} 23 210-06 40,0009 x 2% = 80
4) o3n] 220—01 |20,000¢ x 57 x 203] = 2,000
5) 3] 3 230—-02 |20,0009 X 107 x 23] = 400
2. R YL A ETH A% 2,840 2,840
7b 2T A A A% 2,840
1) $9aF 210-01 |20,0009 x 45%= 900
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neyno 83 Ly A+ o B = A=y ol Y Uy =V (A —
wopsg 32 ’ oo ’ o ’ AFILY ] =% T 20139(A) | 20124(B) (A-B)
2) W7 210-01 |90,000¢ x 74 = 630
3) ojH) 220-01 70,0009 x11%= 770
4) &2 3 230-02 |20,0009 x 9™ x 33]= 540
3. ANV B ARG 1,000 1,000 0
7} x=Ae A wugh 210-01 |10,000€ x 100%= 1,000
SolmgAZ 7,700 7,700 0
otz g 7,700 7,700 0
1 AR AP LA AABNTRFLA 2,200 2,200 0
7). -2 28k} g Uy 210-01 |20,0009 X 30%-= 600
U 2834 A58 220-01 |20,000€ x 307 x 23] = 1,200
t}, &9 3] 230-02 |20,0009 x 107 x 23] = 400
2. X LZAA L 5,500 5,500 0
7t o & Emolshatd 5,500
1) $9aF 210-01 |20,0009 X 39% x 53] = 3,900
2) Holr|dE 210-01 |3,0009 X350 = 1,050
3) A AE 210-07 |150,0009 x 14 = 150
4) 8 o)s 230-02 |20,0009 x 107 x 23] = 400
ELgeAT 103,006 0 103,006
Exgiusadsxy 82,331 0 82,331
1. E¢ a4 dAged 82,331 0 82,331
7t A EF w5 A LA - 82,331
1) 7kl 711] 31,476
7h A% 110-02 25,550,000 x 18 = 25,550
W) Az}E 7R AR 110-02 |70,0009 x 159 = 1,050
) 52z 320-04 |26,600,0009 x1/12= 2,217
2h) S 320-04 |26,600,0009 X 4.5%= 1,197
oh) A7} R 320-04 |26,600,0009 X 2.9%= 772
Hh) ol #7]) @ okR &) 320-04 |772,0009 X 6.55%= 51
AP ZEH Y 320—04 |26,600,0009 X 1.4%= 373
o}) A+ 1.3 320-04 |26,600,0009 X 1%= 266
2) TE 1ML 37,000
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7137 AR R S A e (29 - A9
wopng 17 ’ bl ’ b ’ ARSI %A= Az 20139(A) | 20124 (B) | S2(A-B)
7h) st e 2 2 210—15 [40,0009 x 159 x 233]= 13,800
W) A28 210-15 20,0009 x 301 x 83| = 4,800
oh) FE A A8 210—15 |552,0009 x 53] = 2,760
2h) & AEn) 210—-15 |30,0009 X 857 x 43| = 10,200
u}) 9 ¢3S 210-06 |80,000¢ % 274 x 43]= 640
vh) 2kl xba 210-07 |600,0009) X 2t} X 43]= 4,800
3) 71824 2,000
7hH Lo g% 210-01 |20,0009 X 50%= 1,000
W AL EATFRSA 210—09 |500,0004 x 23] = 1,000
4) 4=3]o9n) 220-01 |15,0009 x 3% x 170U = 7,650
5) 7] Eogn] 220-01 [47,0009 X3 x53]|= 705
6) 7o) o) A 2,500
7H 71& 310—01 [160,0009 %1098 = 1,600
W) z3} 310-01 90,0009 x 107 = 900
7) RelgRg 320-06 |1,0009x70% x103]= 700
]) &9 3 230—-02 20,0009l x 3% x 53] = 300
ELpSE2A9Y 20,675 0 20,675
1. X BAFY 20,675 0 20,675
7t B RS AAAE X 2AF- 20,675
1) o179 110-03 |17,700,000€ x 17 = 17,700
2) 1gr3 320—05 |17,700,00091 X 1.4%= 248
3) AHA K& 320—05 |17,700,0009 X 1%= 177
4) £=3)o3n) 220-01 |15,00091 %1% x1709 = 2,550
EN TS 1,240 1,240 0
EN=&uS8g3) 1,240 1,240 0
1. EX=2399 1,240 1,240 0
7h Eol i A g A = 3 1,240
1) e384 210-01 |20,0009) x 38%= 760
2) AA} STt 210—-06 40,0009 x 127 = 480
PRSI =Y 245,531 239,293 6,238
JFRSTEXY 245,531 239,293 6,238

7/32




Hopnm A = = Al - AFS 2_q= ArZ | o] 2 1 = _
W Tt el Al = = = =] e 0139 (A) 20123 (B) =7FH(A—-B)
1. FoAAFAZ AL 245,531 239,293 6,238
7F Gl AP A H S 245,531
1) 1H] 179,531
71 Ao 7AL 94,212
(1) 9% 110-02 |30,000,000¢1 x 27 = 60,000
(2) A 2F2=} 110-02 [100,0009 x2% x12€= 2,400
(3) A7) 110-02 20,0009 X 27 X 80| 7}= 3,200
(4 F4= 320-04 | 32,800,0009 x 29 x1/12= 5467
(5) FHAF 320-04 | 32,800,000¢ X 27 X 4.5%= 2,952
(6) A4Hd 320—04 [32,800,000¢ X 2™ X 2.9%= 1,903
(7)) =07 Q%krd 320—04 |951,00081 X 28 X6.55%= 125
(8) AHA 5.3 320-04 |32,800,0009 x 29 x0.86%= 565
(9 I2= 310-01 400,000 %28 x12¢¥= 9,600
(10) A== 310-01 300,000 % 27 = 600
(11) &+= 310-01 [2,600,0009 x 2% = 5,200
(12) =3 7] 210-01 |1,100,0009 x 29 = 2,200
W) BZWA} 63,344
(1) o2 110-03 [25,000,0009 x 23 = 50,000
(2) NS 110-03 |12,8409 X 2% X 60| 7k= 1,541
(3) A& 7R AN 110-03 [68,4909 x 2% x 159 = 2,055
4) §A+= 320-05 [26,798,0009 %29 x 1/12= 4,467
(5) =A== 320-05 |26,798,0009 x 29 X 4 5%= 2,412
6) ARy 320-05 [26,798,0009 X 2% X 2.9%= 1,555
(7) =917 QekR 3 320-05 |778,000¢ X 2% X 6.55%= 102
8) 1gxHY 320-05 [26,798,0009 X2 X 1.4%= 751
(9) AHA) 5.3 320-05 |26,798,0009 x 29 X 0.86%= 461
oh AR 2 21,975
(1) A% 110-03 [16,608,000¥ x 1% = 16,608
(2) =R ZH 110-03 |60,0009 %129 = 720
(3) A7+ F 110-03 |8,530¢ X68A7k= 581
(4) AAE7FR A 110-03 45,5009 x159= 683
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7138 AR 1w S A 4 (SHo] - 1 9)
= o i=]
FopRE ﬁij ’ ?};3 ﬂg ’ A el A ArEU 20139d(A) | 2012d(B) | F#(A-B)
(5) B A= 320-05 18,592,000 x1/12= 1,550
(6) ZHlAZ 320-05 18,592,0009 X 4.5%= 837
(7) A7R3 320-05 18,592,0009 X2.9%= 540
(8) wo1A7|Qekrn 3 320—05 |540,0009 X 6.55%= 36
9 1&R3 320-05 18,592,0009 X 1.4%= 260
(10) AHA R 320-05 18,592,0009 X 0.86%= 160
2) X213 H] 40,000
7H &9 8= 210-01 20,0009 X 15% x153]= 4,500
) w A7 15,000
(1) Aol 210-01 10,0009 x500A= 5,000
(2) &0 210-01 10,0009 x500A= 5,000
(3) AR 210-01 10,0009 x500A= 5,000
o 9v g 210-01 14,0009 X 400w = 5,600
2} A5 AEA B 210-11 50,0009 X 298%= 14,900
3) ¥ELw 6.816
7H A7 Q& 210-02 400,000 x129= 4,800
W) Asle = 210-02 150,0009x129= 1,800
th SHQ = 210-02 18,0009 x129= 216
4) A7)/ 22 210-07 [62,000€9x12¥= 744
5) 277l e 210-09 |200,0009 x 10% x 28] = 4,000
6) A1 An])-5-A#] 1) 210—-09 800,0009 X103 = 8,000
7) 9 LE 210-01 20,0009 X62%= 1,240
8) ojn) 220-01 |20,0004¢ x 47 X 403]= 3,200
9) ¥ 93 230-02 20,0009 X109 x103]= 2,000
}8t w5 TR Y 27,833 43,672 A15,839
sty %ﬂ}@—%oaq]gg} 24,153 19,992 4,161
1. A R 248 24,153 19,992 4,161
7}, kA & w2 Yol 7] 24,153
1) A% 110-02 |45,5009 X 3659 = 16,608
2) WEXH ZH 110-02 [60,0009 x 129 = 720
3) 7t=E54 110-02 60,0009 x12¥9= 720
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BRI SRR Rk R
% [ =]
?}ij ’ ?}Z‘.j ’ ﬂg ’ AU & E-A5 =Y 20139(A) | 20129 (B) | S#(A-B)
4) A7 LFEIAE 110-02 90,0009 x12¢ = 1,080
5) A7+ 110-02 |8,5309 X 20041 k= 1,706
6) Ax}F 7R AN 110-02 45,5009 1591 = 683
7) A 320-04 |17,291,0009 x 1/12= 1,441
8) =Wl 320-04 |17,291,0009 X 4.5%= 779
9) LR 320-04 |17,291,0009 % 1.4%= 243
10) AHA 23 320-04 |17,291,0009 X 19%= 173
ABZAAFR A 7 SA D 3,680 23,680 £20,000
1. e F QX 3 1,880 1,880 0
7h g E ) 8 1,880
) $98% 210-01 |20,0009 X 13%= 260
92) AzA 2 210-01 |20,0009 X 25%= 500
3) Ak 210-06 |40,000¢ % 98 = 360
4) oIn] 220-01 |20,0009 x13% = 260
5) 9] 5] 230-02 |20,0009 x 25 = 500
2. TR A 3 1,800 1,800 0
7F. e X 3 1,800
A 210-01 20,0009 X 21%= 420
2) AFEn) 210-01 |10,0009 X 50%= 500
3) AApSk 210-06 |40,0009 %127 = 480
4) ¥ o]g 230-02 |20,0009 X 209 = 400
SRR TGS 129,371 129,371 0
S AT 129,371 129,371 0
1. AALAE Y EANH] A Y 129,371 129,371 0
7}, QI I E Al H] 210-02 ]10,780,88091 x12¢¥= 129,371
AS w5y as 90,000 90,000 0
ASSAZEAY 90,000 90,000 0
1. §4F5EY 90,000 90,000 0
b HEAFEED 70,000
1) 258w 620-03 |400,0009 X807 = 32,000
2) %8t 38,000
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BE o) A H )
Bopry ol < o AU B = AE A 20139 (A) | 20129 (B) | =7 (A-B)
A+ A A B -
7H 39 620—-03 |400,0009 X554 = 22,000
h) A 620—10 |400,0009 x 408 = 16,000
U 38 620—-03 |20,000,0009 X 13.= 20,000
EYIEXY 8,830 13,650 A4,820
T3denSg43 8,200 8,550 A350
1. dsd g9 8,200 8,550 A350
7} ol s A 3] 1,260
1) $98% 210-01 |20,0009 X 25%= 500
2) A 210-06 |40,0009 x 1478 = 560
3) geolg 230-02 20,0004 X 57 x 23] = 200
U S WAL R o 5 i 3T E 3,390
1) 98+ 210-01 |20,0009 X 15%= 300
2) EXHEA 2 210-01 10,0009 X 164%= 1,640
3) A= 210-07 [500,0009 x13]= 500
4) ) Ay 210-05 |7,0009 x50% = 350
5) oIH] 220-01 |20,0009 x30% = 600
t}, Al WAL A 3,550
1) 98+ 210-01 [20,0009 X50%&= 1,000
2) FrA=tE 210-01 [10,0009 X50%&= 500
3) A1) 310—-01 |7,0009 X150 = 1,050
4) B4 3e 620—03 [1,000,0009 x 131.= 1,000
e eS| gFFA w S ¢ 630 5,100 A4,470
1. 953U 2E73 52473} 630 5,100 A4,470
= i A S e A R 630
D) eoe= 210-01 |20,0009 x15%= 300
2) ZAr e (4 330
71 718 210-06 |70,000¢ x 373 210
W) =3 210—06 |40,000¢ x 34 120
THLFAIEF 10,000 20,000 210,000
SATEHEEA Y 10,000 20,000 210,000
1. 5HEFEz ALY 10,000 20,000 210,000
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o ’ s ’ Areipel % = RENE 20139(A) | 20124 (B) | S2(A-B)
7h AR RER W 10,000
1) 70 A3 210-01 20,0009 %1779 = 3,540
2) At (LR 6,460
7H 7] E 210-06 160,000 x 289 = 4,480
W) % 210-06 90,0009 X227 = 1,980
SN LA = 5,800 2,000 3,800
AL =X A 1,000 1,000 0
I RRRC: Rt B 1,000 1,000 0
7} s A 1,000
1) 23EH) 210-01 [10,0009 X509 X 23] = 1,000
8w o< Y 4,800 1,000 3,800
1. ZH LA ER = 2,440 0 2,440
7}, S E e ol 2,440
1) A=A 210-01 |5,0009 x 80 x 23] = 800
2) ZFAbd (4R 440
7H 71E 210-06 |70,0009 x 2% x 23] = 280
) =3 210-06 40,0009 x 29 x 23] = 160
3) 393 230-02 20,0009 x 30 x 23] = 1,200
2. A =X 4 2,360 1,000 1,360
7]_ 61—5 g] *ﬁ%X]E 2,360
1) 8= 210-01 |20,0009 x 8F= 160
2) 1] 220—-01 |20,00049] x 29 x 308 = 1,200
3) 393 230-02 20,0009 X259 x 23] = 1,000
FYYFETA A 3,500 2,900 600
TS GEFA A 3,500 2,900 600
1. YT Y 3,500 2,900 600
7}, A EAE w A 3] o B 220—01 |20,0009 x 29 x303] = 1,200
U Al g AARA 210-01 |5,000¢ x 180w]= 900
oo AEEE ey 210-01 |100,0009 X 143= 1,400
fein=R- gt 1,945 0 1,945
fin=Re AR 1,945 0 1,945
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713 AEE e S AA (cFe] : =9
Z] 2 t}o A _
Hofnm ;Cg ’ A};j ’ A‘]f:?E ’ PARSRR L= A5 ArE 2013 (A) | 20129 (B) | S (A-B)
L. 7S AY A =B 7T 1,945 0 1,945
7h = A =g 1,945
1) AR e g gl 110-03 |57,85091 x54 = 289
2) £ 210-01 |20,0009 X 25%= 500
3) 21H] 210-05 |7,0009 x 4% x 28] = 56
4) Holza] s} 210-06 |40,00049 X 6% x 43] = 960
5) &) 3 230-02 20,0009 X 7= 140
ISEAR Y 2,257,663 2,647,394 389,731
=P 2,164,453 2,538,344 £373,891
7|2 G202 9 2,164,453 2,538,344 £2373,891
1. A &2 5 F4A 1,871,558 2,340,090 £468,532
7} 158w 1,871,558
D 39 620-03 |2,9009 X725 x 190U = 345,042
2) AHY 620—10 |2,9009x2,771 x190U= 1,526,516
2. AT AENEAY 124,648 0 124,648
7} x4 620-03 1009 X 1499 x 180U = 2,684
U 2538w 620—-03 1009 2,558 x 190 = 48,604
t}, =38y 47,968
D 39 620—03 |1309x1,039% x190%= 25,664
2) AHY 620—10 130999039 x 190U = 22,304
& 15k 25,392
D 39 62003 1309 %64 x190U= 1,581
2) AHH 620—10 |130€1 %964 x190U= 23,811
3. A ARA Y 168,247 198,254 30,007
7F G214 620—-03 |68¢1x2714 x180U= 3,318
U 253w 620—-03 |78¢1x2,558% X190 = 37,910
o}, Zdw 50,182
1) &9 620—-03 |1369x1,0397 x190Y= 26,848
2) A+ 620—10 |136€1x903%9 x190U= 23,334
& pEsty 76,837
D 39 620-03 14597257 x190U= 19,974
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(o] - )

Bopnz 84 ’ 7] ’ Al Apelu el B RESL 20139 (A) | 20124 (B) | % (A-B)
- Tl OAK A A B a - s = = o™
2) AHd 620—10 |1459%2,064™ x190Y= 56,863
AEER] X2 Y 93,210 109,050 215,840
AEX XA Y 93,210 109,050 215,840
1. IS EX AR AR Y 93,210 109,050 215,840
7h ASHA A w A Y 80,000
1) 1FE 620—10 |80,000,0004¢ X 13.= 80,000
LA o R B o R R 1,980
1) Y3 210—06 80,0009 x 39 x 23] = 480
2) 43| A Eon] 220-01 |20,0009 X 19 x 103] = 200
3) Alm)upra 220-01 |70,0009 %19 x108]= 700
4) o3 230-02 20,0009 x 307 = 600
o WS HA S EAG D 11,230
1) 8= 210-01 |20,0009 x 35%= 700
2) A=A = 210-01 |10,0009 x 7%= 70
3) AEFAd A7 210-07 |600,0009 x 2t} = 1,200
4) A7 210-07 |300,0009 x 24 = 600
5) 214 310-01 |7,000€ X609 x 32 = 1,260
6) Z<uhn] 310—01 40,0009 %60 x 1= 2,400
7) 9JEFS-on) 210—-01 |100,0009 x50 = 5,000
BA/FA/ASE=E 1,044,642 359,760 684,882
HAAT 3,445 3,025 420
S u AR 505 505 0
1. 2 AN S -2Y 505 505 0
7h B WAL 505
1) A5 A 210-01 |6,0009 X 60%-= 360
2) Yag 210-01 |14,0009 x 2.5u)= 35
3) AAFTF R (ARh 110
7h 71 & 210-06 |70,0009 x 19 = 70
W) 23 210-06 40,0009 x 1= 40
R B I P Y 2,940 2,520 420
1. g =E37 180 180 0
L& - FolU2EFE5RS - BA/FA/ASEE - nave - Sud vy 14/32




AU & == A5 A= e 20139 (A) | 20129 (B) | TH(A-B)
7F ZEFA A 180
D +9&8F 210-01 |3,0009 x 107 = 30
2) AF7IAE L 210-01 |15,0009 x 10iL= 150
2. w8334 A3} 2,760 2,340 420
7}, S FH g g A A AF 310-01 40,0009 x 109 x 23] = 800
v g 37 9 8 51 9] e 3] 1,960
1) FA4o 210-06 80,0009 X114 x23]= 1,760
2) A7loin] 220-01 |20,0009 x 27 x 53] = 200
1,014,627 330,165 684,462
7 2,595 2,595 0
. B RSHA LA 2,595 2,595 0
7h, Sl A I AR S 875
1) A4 A 210-01 |5,000¢ x 45%= 225
2) Y18 210—01 |14,0009 x 2.5 X 6A] k= 210
3) AT (AR 440
7H & 210-06 |70,0009 x 49 = 280
W) %3 210-06 |40,0004 x 4% = 160
[ IR R R R e R 1,720
1) o3H] 220-01 |20,0009] x 29 x 313 = 1,240
9) AR 310-01 |40,0009 17 x 123]= 480
o 28,960 198,430 A169,470
.S F A Yk xRS A 1] 28,960 28,420 540
7}, A 2 e o) 620—-03 |2,896,0009 x10t]= 28,960
AN 983,072 129,140 853,932
LSO FAT UL GE 983,072 129,140 853,932
7F 3 AA A d st 943,342
1) B3R EF (EAA RS 1,800
71 A3 H) 420-03 |300,0009 X 6m= 1,800
2) A Z (EA 72 34 44,109
7H A]AdH] 420-03 [15,000,0009 x12]= 15,000
) AJA B on) 420-05 |15,000,0009 X 1.080%= 162
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AUl e
oh) 7] -4
3) DA F (A 7] A AL
7h) A]/dH]
) 7]5-4]
4) A2 AAZRNF)
71 A An]
) Al H]
(1) A=
(2) 28| 4AN=F
(3) A AZHAA
o) Al Fo)
2}) 7] 54
5) ALz (EAxAZA])
71 A7 H]
) 7]5-H]
6) THX G LdH)
70 A AN
) A]AdH]

(6) dHHEA
th) Al e
2}) 7))
7) A= (AN F)
71 A AN
L) A4
(D) AEM=
(2) =8 HdNF

A5 A= e 20134 (A) 2012 (B) 4 (A-B)
620—04 |28,947,0009= 28,947
16,471
420—-03 |15,000,000¢ x 14 = 15,000
620—04 |1,471,0009= 1,471
388,544
420-02 |360,990,0009¥1 X2.932%= 10,585
360,990
420-03 |1,520,000€¥1 X60m'= 91,200
420-03 |2,160,0009¥1 X110m'= 237,600
420—-03 /10,730,000 x 34 = 32,190
420—-05 |360,990,000¢¥1 X0.633%= 2,287
620—04 |14,682,00091= 14,682
8,800
420-03 |300,0009 X 25m= 7,500
620-04 |1,300,0009= 1,300
50,301
420-02 |46,800,0009 X4.478%= 2,096
46,800
420-03 |4,750,00091 X 2.54= 11,875
420-03 12,000,000 X 17]4= 2,000
420-03 14,320,000 X 2.54= 10,800
420-03 13,090,000 X 2.54= 7,725
420-03 |1,070,0009 X 2.54= 2,675
420-03 4,690,000 X 2.54= 11,725
420—-05 |46,800,000¢ X1.079%= 505
620—04 900,000 = 900
387,499
420-02 |360,990,0009¥1 X4.619%= 16,677
360,990
420—-03 |1,520,0009¥1 X60m'= 91,200
420-03 |2,160,00091 X110m'= 237,600
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o i=]
?};3 ’ ﬂg A e === A2 20139 (A) | 2012d(®B) | % (A-B)
(3) Ayaa+dA 420-03 |10,730,00091 x 34 = 32,190
th) A]A o) 420-05 |360,990,00091 X 0.723%= 2,613
2} 7])-1] 620—04 |7,219,0009= 7,219
8) 1FFT (EAXAEA]) 7,030
7 A1Adn] 420-03 300,000 X Tm= 2,100
) 7] 94H] 620—04 |4,930,00091= 4,930
9) LI (EA7FAA Y FAD 38,788
7H A A m] 420-02 [23,580,0009 X 4.877%= 1,150
b AJAdn) 420-03 23,580,0009 x141= 23,580
th Al En] 420-05 23,580,000 X 1.145%= 270
2h) 7)4-1] 620—-04 | 13,788,0009= 13,788
U w3347 A 39,730
1) =53tu(61) 620—04 |17,106,0009= 17,106
2) T8 3,300
7H A (1) 620—10 |3,300,0009= 3,300
3) 158t 19,324
7H A} (31) 620—10 |19,324,00091= 19,324
ZEZASNINE S 26,570 26,570
S o) 3 =Y 26,570 26,570
1. AF2dA S 3 6,400 6,400
7}, o3 H) 220-01 |70,000¢ x 47 x 33] = 840
L 24740 310-01 60,0009 X267 = 1,560
o, A4Ay 310—01 |200,0009 x 208 = 4,000
2. 71k &9 3 20,170 20,170
7} 57 ) 3] 5,920
1) 574 3] 2,690
7hH 9 8= 210-01 20,0009 x80F= 1,600
) A 600
() 7NNE 210-06 40,0009 X109 = 400
(2) &7} 210-06 |20,0009x 109 = 200
o Al xt g 210-07 |140,0009x13= 140
- froldxEE RS - BA/FA/ASEE - AFASUNIDE - AU Y 17/32




= =]
/ﬁg ’ 32 ’ itg ’ Ab i < == A5 A= e 2013 (A) | 20129 (B) | TH(A-B)
2}) An 310-01 |7,0009x50% = 350
2) meFoj ol H7 )3 b71o
H ¢ eE 210-01 20,0009 x 15%= 300
) AFEn) 210-01 |10,000€ X 60F= 600
oh A 000
(1) 7]1% 210-06 |40,0009x10% = 400
(2) =7} 210-06 20,0009l 10 = 200
2} A 310-01 |7,0009 %308 = 210
3) wetEdr]th 3 1,040
b SolexE 210-01 20,0009 x 15%= 300
) AR 210-01 |10,000€ X 60&= 600
o} 2n) 310-01 |7,0009 %20 = XS
4) & o) 3] 23002 20,0009 x 12 x 23] = 480
uh 577 o 3] 5,400
1) &) 3] 2400
1 x=8hw 220-01 |20,000€ x 300 x 291 = 1,200
W) E8m 220-01 20,0009 30% x 2% = 1,200
2) o] W 7o) 3] 210-01 |20,0009 x50 = 1,000
3) WA A5 52 2000
H La3e= 210-01 20,0009 x50%= 1,000
W) Nz 230-02 |200,0009 59 = 1,000
th 3% oS Ak 5] 4,600
) $98= 210-01 |20,000€ X 80F= 1,600
9) A A A7 210-07 |200,0009 % 13]= 200
3) g3 230-02 |20,0009 X 140 = 2,800
2}, 31 A 4 o) 3] 4250
1) g 210-01 20,0009 x 150%= 3,000
2) A Aelxts 210-07 |200,0009 x 13]= 200
3) An] 210-04 17,0009 x150% = 1,050
LAZA L& 15,233,125 14,802,715 430,410
8w -2 Ju) A A 8,426,824 8,821,653 £394,829
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(9] - Q)

o ’ oo ’ b AR %A= RENE 20134(A) | 20120(®) | F7HA-B)
R R PO | 8,426,824 8,821,653 £A394,829
1. 7|29 8,268,893 8,821,653 A552,760
VAR )| 620—02 852,239,000 = 852,239
L 258w 620-02 |5,180,478,0009= 5,180,478
o}, Zdw 620—02 |2,236,176,0009= 2,236,176
2. 7| ek&gn XY 157,931 0 157,931
7h w5 AANA 52,090
1) 258w (101) 620—04 |52,090,000¢ = 52,090
|5 R 2 e R B 105,841
1) 258w (61) 620—04 97,646,000 = 97,646
2) 1S58k (13) 620—04 |8,195,000¢= 8,195
A EHA A A Y 6,806,301 5,981,062 825,239
QAvAZEEA A 5,563,611 4,889,434 674,177
1. QA8 AR AT ZE 5,563,611 4,889,434 674,177
7k 1A ® Y 620—08 |5,563,611,0009= 5,563,611
LG AA AR L 1,242,690 1,091,628 151,062
L SYH AR AT Z 1,242,690 1,091,628 151,062
7}, w7 2 n) 620—09 |1,242,690,00091= 1,242,690
IAFAANAAAL 1,893,608 1,291,730 601,878
8w A ukA] A 118,225 242,520 A124,295
WA EZ = 118,225 242,520 A124,295
1. A dFEFEUNF 118,225 0 118,225
7} ek E 118,225
1) Al AARH A LN 410-01 |28,030,0009 x171= 28,030
2) A Sl 90,195
7h) H-=]uj 9] H) 410-01 |12,0009 %5471 m'= 65,652
) 91 A 310-01 |1,404.291%5,171m X 2= 14,523
o} B o] An] 310—01 |3,340,000¢ x37]= 10,020
AEIAFMNAAAL 1,775,383 1,049,210 726,173
st A i S8 A 1,775,383 1,049,210 726,173
1. 2 A eA 747,820 787,986 £40,166
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SENE

7} ¥ B
1) A4
7h thakx
W a3E
2) A1t
v S
1) A1Adn]
7h Az
W) &Y=
oh) of
2h) g
b A%
up) a3k
AD 1%
o) @l
Zh) a7 aL
2) Al -]
= MRS RCIA= R
1) A4
7h AL
W)+
th) of
2h) 4l
b Al
uh) & 2] 3L
2) At
2t o] =
1) 1+x
7h A1 8] (5
) Al E] (2]
th) AR

=
-
s
-

A5 A= e 20134 (A) 2012 (B) 4 (A-B)
34,822
34,450
420-03 6,890,000 x 24 = 13,780
420-03 6,890,000 x 34 = 20,670
420—-05 |34,450,000¢ X 1.08%= 372
335,745
333,345
420-03 19,390,000¢ x 34 = 28,170
420-03 19,390,000¢¥1 X10.54 = 98,595
420-03 19,390,000¢1 x 34 = 28,170
420—-03 19,390,000 x 14 = 9,390
420-03 19,390,000¢¥1 X541 = 46,950
420-03 19,390,000¢¥1 X541 = 46,950
420-03 19,390,00091 X5.5%4 = 51,645
420-03 19,390,000 X 1.5%4= 14,085
420-03 19,390,000 x 14 = 9,390
420—05 |333,345,0009 X0.72%= 2,400
272,361
270,516
420—-03 |10,060,000¢ x54= 50,300
420-03 |10,060,000¢ x1.44= 14,256
420—-03 |13,170,0009¢ x54= 65,850
420-03 |13,170,0009¢ x 34 = 39,510
420—-03 |10,060,0009¢ x 44 = 40,240
420—-03 |10,060,0009¢ x 64 = 60,360
420-05 |270,516,00094 X 0.72%= 1,845
48,393
48,393
420—-03 |1,200,000¢1 X304 = 36,000
420—-03 396,000 x 304 = 11,880
420—-05 |47,880,0009 X1.073%= 513

oft
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A ’ Abei el
vh EY T YT WA
1) A]4d]
7} otatx
W) Az
2) Al K-y
2. A7\A1E A
7h AN
1) Al
7h &4

D Az
3. HAXNAHEF
7t w2 Q3 o A gk
1) A A
2) A1Adn)
7h) F-_kx
W i3
3) Al K-t n]
4. 337FANA
7}, g 4
1) A A
7hH &
L) o
h
2})
u}) 3
) AUz
2) AlAdn]
7h F&
2k

Wb o

off =L BN BN BN
B

B
o offt

B P

A5 A= e 20134 (A) 2012 (B) 4 (A-B)
56,499
55,900
420-03 |2,150,0009¥1 X104 = 21,500
420-03 |2,150,0009¥1 X164 = 34,400
420—-05 |55,900,000¢ X1.072%= 599
19,670 48,200 228,530
9,900
9,900
420-03 |1,540,000¢1 x 34 = 4,700
420-03 |1,540,00091 X 3.34= 5,200
9,770
420-03 |9,770,000€1 X 14 = 9,770
119,150 0 119,150
119,150
420-02 |113,140,00091 X4.425%= 5,006
113,140
420-03 |113,140,0009 X 0.5% = 56,570
420-03 |113,140,0009 X0.54= 56,570
420-05 |113,140,00091 X0.888%= 1,004
700,519 0 700,519
700,519
26,487
420-02 |74,550,000¢ X 4.336%= 3,232
420—-02 |149,100,0009¥ X 3.755%= 5,597
420-02 (149,100,000 X 3.755%= 5,597
420-02 (149,100,000 X 3.755%= 5,597
420—-02 |74,550,0009¢ X 4.336%= 3,232
420—-02 |74,550,0009¢ X 4.336%= 3,232
670,950
420—-03 |74,550,0009 x 14 = 74,550
420—03 |74,550,0009 x 24 = 149,100

oft

AAAE - BEBAAEA - SFmAH LB
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A e e TR ST R o B (5o : W9
Z o )=
Fok ﬁij ’ ?};3 ’ ﬂg ’ Ar E-AE A& 2013€(A) | 2012€d(B) | F#(A-B)
o A5z 420-03 |74,550,000¢] x 221 = 149,100
b AT 420—03 |74,550,0009 x 24 = 149,100
) s 420-03 |74,550,0009 x 14 = 74,550
vh) A= 420-03 |74,550,0009 x 14 = 74,550
3) Al F-tiiH] 420-05 |670,950,0009 X 0.458%= 3,082
5. wAtFH AHE) 39,510 15,780 23,730
7F AR H (3 EE) 620—11 |13,170,0009 x 34 = 39,510
6. A7 AN (AHR) 4,392 0 4,392
7} AN (G A=) 620—-11 |1,540,0009 x 34 = 4,392
7. 2138t A4 XA 144,322 0 144,322
7h NFE LA A Y 144,322
1) &3 420-03 |125,832,0009 = 125,832
2) A} 620—11 |18,490,00091= 18,490
By - AQuS 88,700 141,223 N52,523
PR S 88,700 141,223 A52,523
HA D EEAAA A 21,800 21,800 0
HAT A AL IA 4 1,800 1,800 0
1. ¥ 43e9 560 500 60
7} 9 g E 210-01 |20,000¢1 X 45= 80
o, Zed 210-06 80,0009 X6 = 480
2. FAY W HAZ LI 1,240 1,300 £60
eI AR R R e 220-01 |20,0009¢ x 2% x 259 = 1,000
15 R sl e R s A B o R e 310-01 [40,0009 x 27 x 391 = 240
HAsHFTIA A 20,000 20,000 0
1. BT FHZIA A 20,000 20,000 0
7 EAERAAA NS EZZ e 20,000
1) &9 8% 210-01 20,0009 X 28% x 103 = 5,600
2) ZAArE (4R 210-06 |100,0009 %129 x 123]= 14,400
= R e 66,900 119,423 752,523
EABELEEX L 66,900 119,423 752,523
1. FFEABEANTS 20,000 20,000 0
g - B AYuS - FALE - SAAEIE - EAAEIA L 22/32




(o] - )

ﬁij ’ ?}2 ’ ﬂz A ek ) 20134 (A) | 20124 (B | Z7(A-B)
7F =AY 430-01 10,0009 x2,0009 = 20,000
2. TZEABA YN g2 5,400 62,383 256,983
7}, A 749 430-01 |900,0009 X 6= 5,400
3. gRExsdLIgx Y 16,700 14,000 2,700
7}, GA B 210-09 |2,675,0009 x 4%7]= 10,700
. 3 AA e E 210-02 |1,500,0009) x 4%7]= 6,000
4, RAERA AR R TE 10,000 10,000 0
7} v X " =g -el 430-01 |50,0009 X 200% = 10,000
5. TEZEABEIFHALL S 14,800 13,040 1,760
7y, Fhoprh=A 9 71AKY] 10,000
1) $3e= 210-01 |20,0009 X 20% x 108] = 4,000
2) ZFAbrE (duh) 210-06 |100,0009 X 6% x 108 = 6,000
L S TS AR 4,800
1) $ae= 210-01 |20,0009 X 40% x 33| = 2,400
2) ZAAr (LR 210-06 |160,00091 X 157 = 2,400
TSUnt 2,294,331 1,362,325 932,006
RS L 1,486,952 1,009,825 477,127
AHH A7) 8Bz 11,840 9,050 2,790
AHH A7) 8 Az 4,800 2,000 2,800
1. 2995 A2 4,800 2,000 2,800
7h 15 3] 2,800
) $98= 210-01 |20,0009 % 15%= 300
2) Az dkgE 210-01 5,000 X 480%= 2,400
3) A A8 210-07 |100,0009l % 13]= 100
U Fo g A 210—01 10,0009 X 200%-= 2,000
IR == R ) 7,040 7,050 210
1. A9 2S3uSEE <L 7,040 7,050 A10
7h 1 w5 o) 3] 2,340
1) $3e= 210-01 |20,0009 x 17%= 340
2) 9|3 230-02 20,0009 X 20% x 53] = 2,000
U I EA YR IHE 3,000
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o )=
Eg ’ ﬂg ’ ARl o Z—A5% A 20134d(A) | 20129 (B) | % (A-B)
1) 985 210-01 |20,0009 x75%= 1,500
2) 93] 230—02 [20,0009 X759 = 1,500
oh A2 5 3 S g =AY 1,700
D soex 210-01 20,0009 x 25%= 500
2) & 2] 3 230-02 |20,000¢) X 30 x 23| = 1,200
WS HA 1,000 1,000 0
PAMNAEETA 1,000 1,000 0
1. nSPH =73} 1,000 1,000 0
4 B A B R R 1,000
D g8 210-01 20,0009 X 10%= 200
2) g9)3 230-02 |20,0009 x 8% X 53] = 800
DE&PF P K3} 13,468 13,400 68
PP PYEAI LY 13,468 2,064 11,404
1. A2H#ALLY 12,808 0 12,808
7 A A B 4,188
1) H/W-HA B 210-09 52,443,000 X 8%= 4,188
v AR w5 8- 6,180
1) PCS¢ 210—09 [50,000¢ x 208 = 1,000
9) £ g 210-01 20,0009 x 20% x 23] = 800
3) AES/WH+4 210-01 |300,0009 x8%&= 2,400
4) AL AN TR 210-01 |165,0009 x129= 1,980
o}, A K3 x] Y ogn) 220—01 [20,0009 x 29 X 613]= 2,440
2. EH o)A A & 660 660 0
7}, E 5| 0] x| Al 1 A - 210-01 |660,0009 x 14 = 660
B/t A F 2 2 2t 1,990 1,990 0
H] 4t A & L B ek #e 1,990 1,990 0
1. B u| A g L B kg 400 400 0
7t At Ed 400
1) &9 8% 210-01 |20,0009 x6%&= 120
2) E1uj 2l 210-05 |7,0009 x 207 x 221 = 280
2. =X A5 1,590 1,590 0

— WS PPAW - wl Tl A SRR el — ulagohul A H gk
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Ll fﬁ ’ ?“é ’ ﬂ:g ’ Abiu S il Az 20139(A) | 2012d(B) | T#H(A-B)
7h 8= 210-01 |20,0009 % 6% = 120
1}, B Al 210-05 |7,0009 X357 x64]= 1,470
A AA A 24,738 0 24,738
ol Ak 2] 24,738 0 24,738
1. 53 AGAAYFR 1,000 0 1,000
7} 8% 210-01 |20,0009 % 25%= 500
.z} &A= 210-01 |10,0009 x 50%= 500
2. AHIAMAR L 23,738 0 23,738
VAT S s R b Kl 1.858
D A1) 620—10 |1,858,0009= 1,858
A A 21,880
1 AF S (230) 620—10 |21,880,000¢= 21,880
A &= 28,713 28,585 128
A3 A #e 320 320 0
1. 7_.“01:@_‘?_2;5{]_ 320 320 0
7h Al A 320
D sodex 210-01 |20,0009 x 8% = 160
2) AT (dRh) 210-06 |160,0009 x 1% = 160
T AL EZ 77 28,393 28,265 128
L E o ZRAAAE 10,818 11,259 A441
b AAR AL EA S5 210-01 600,000 % 871= 4,800
U B8 210-01 [52,0009 x 43]= 208
o}, Eu Ay 210—-05 |7,0009 x 2™ x 459 = 630
g}, A g 2 A} 220-01 |20,0009 % 27 x 873] = 3,480
2] BRI PR ReRE | 230-02 |20,0009 x 7 x 73] = 980
vl A =) 250-04 |60,0009 18 x 129 = 720
2. L&A A AGEA 3 v 17,575 17,006 569
7F A A2 A 3] 1) 210-02 |17,575,0008= 17,575
A ) %] A & 1,124,003 949,500 174,503
A H) ] A 2 B 1,124,003 949,500 174,503
e E L 1,540 1,540 0
WS - R - WS ARt — S | A & — A A A & e 25/32




X 1=}
f?}jj ’ ?}2 ’ ﬂg ’ Apely el RS ) 20139 (A) | 20124 (B) | % (A-B)

Ao il 1,540

1) o1H] 220-01 |20,00091 x4 x13%]= 1,040

2) 893 230—-02 |20,0004€ x 257 = 500
2. BB AX Y 1,076,287 927,600 148,687

7} AU A QAN 110-03 95,0009 x 493 = 4,655

L SO A g 149,410

D Sx4ad) 620—-03 |8,383,00091= 8,383

2) =8 w (17) 620—03 |141,027,0009 = 141,027

o}, E8hH A A 364,000

1) 8 (4592 430—-01 [91,000,000€ x 40]= 364,000

2}, AW A= 210—-07 |42,000,000€ x 10t} = 420,000

mh Qb w17 ] 138,222

1) x4 620-01 |7,679,0009 x19= 7,679

2) 28w 620—01 |7,679,0009 %17 = 130,543
3. FPEA Y 46,176 20,360 25,816

7}, BIA 8] =] Y (61) 620-03 |46,176,0008= 46,176
SE g uZn 93] g 6,304 3,500 2,804
SH ma Z=u 78 3o g 6,304 3,500 2,804
1. staegs a3 ae 4,304 3,500 804

7h Suegdgdr 2,964

D sodex 210-01 20,0009 x 22%= 440

2) A=A 2+ 210-01 |4,0009) X 41%-= 164

A= 210—-01 |14,0004€l X 2.55 X 6] 7+= 210

4) ZA (AR 750

b 7)1 E 210—06 |160,0009 x 34 = 480

W) 23 210-06 |90,000¢ x 33 = 270

5) &3 230—02 20,000l X 357 x 23] = 1,400

LR TR et s B R e g R ] 1,340

1) $98=x 210—-01 |20,000€l X 18%= 360

2) 2] 310-01 |7,00091 %140 = 980
2. SRR uFA gAY sA ¢ 2,000 0 2,000
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T RHFA LA A4
?“}2 ’ ﬂ:g ’ A === AEU 2013d(A) | 2012d(B) | 3 (A-B)
7t SRR A 3ol 2] 2
1) &98% 210-01 [20,0009 x16%F=
2) 91= 210-01 14,0009 X 2.5m] x 4A] 7k=
3) ZAAFTE (AR
7H 71 & 210-06 160,000 x 2=
W) 23 210-06 90,0009 X 2=
4) 2lH] 310-01 |7,000€l x40 x 38| =
5) &9 3] 230—02 |20,0009 x103]=
A AL & 0 274,896
A AL & 0 274,896
1. A A XA D 0 274,896
7t S A A 2
D stusAdE=
b 1% 620-03 [31,000,0009 X 13.=
W) A= 620-03 |31,000,0009 X 1=
o tiikx 620—03 |31,000,0009 X 13.=
b tjolx 620-03 | 31,000,0009 x11=
ul) wjAkz 620-03 |31,000,0009 x 1w =
2) A A el
7h £33 A AL 110-03 |48,000,0009 x 14 =
W) HA AL LA 210—13 |18,100,0009 x 14 =
) AE4ATA 210-09 53,796,0009 x 14 =
#H-F = 352,500 454,879
71229 H] 352,500 3,035
A nSH LY 352,500 3,035
1. 712495531 24,240 40
7h. 713729 73 v
1) 7] A2 A ] B =2 1) 250-02 400,0009 x129=
2) 71#F %1 230-01 |18,000,000¢=
3) A7 FF 1] 230—01 |40,0009 x37%=
2. 71 F-E47H| 167,704 21,245
A= A =713y - 7| &G - A usHY 27/32




ﬂz ’ A A% Az 2013d(a) | 20124(B) | S (A-B)
7). kg A 0.039
1) 7y ET= 210-01 |15,0009 x20% x 129 = 3,600
2) FyE 210-01 |203,0009 % 129 = 2436
b A2 A 10910
1) ZRE(A3) 430-01 |808,0009 % 5t)= 4,040
9) 7 FE 24 430-01 |910,000€1 X 10t} = 9,100
3) BUH 430-01 |239,000€1 x 10t} = 2,390
4) A2 27 430-01 |205,0009 x 2= 410
th FE LT LA 02509
D ANes 210-02 |2,500,0009) X129 = 30,000
2) Aso = 210-02 |1,400,000¢1 x 129 = 16,800
3) ddtrrEaw 210-02 94,0009 x 12¢= 1,128
4) SHo 210-02 |300,00091 x 129 = 3,600
5) A A7 7| A Bk 210-02 |438,0009 % 23] = 876
6) AR R =3 g 210-02 |105,0009 X 1= 105
2. 4 2ol 19010
1) 92470 210-15 |500,000¢1= 500
9) %A 5t} 210-06 |50,0009 x 2609 = 13,000
3) 2ol An| 4o 210-13 |170,000€1 X 129 = 2,040
oh. G bkl 4799
1) dg=xol7An 110-03 |57,8509 x 10 x 163]= 9,256
2) AFaAmA = 210-15 |1,000,0004¢ % 33] = 3,000
3) A7k 5,200
7h) AL 210-02 |300,0009 x 23] = 600
) Abel 210-02 |1,300,0009 x 23] = 2,600
th) o2 Ape 210-02 |1,000,000¢ x 23] = 2,000
4) 2HEA) A A WA A 210-02 |837,0009 x 18] = 837
5) AAFG-A| K2 210-09 |1,470,0009 x 129 = 17,640
6) AFEH-G-2] K2 210-09 |1,000,0009 x 129 = 12,000
k. ol gl o
1) AR 2]} 210-08 1,393 x8A7kx90% X 3dj= 3,009
T — WS e - 72 - AquFY D 28/32




1) & %4 (35,000km®]*4})
2}, AR
D Y4171
7h B
) =98
th) 2]
2) TEYA A
71 9

) A

al) Al g
up) H 7]t
AP 2~HFA] A A 7
o}) wa}ate] #}3]H)
4) &It

A5 A= e 20134 (A) 2012 (B) 4 (A-B)

210—08 |1,393€¥ x8AI7Fx 90U X 1= 1,003
10,560
210-09 |120,0009¥9 X 10F x53]= 6,000
210—09 |76,0009 x5t x12¥= 4,560
12,129
210—-10 [12,129,000¢= 12,129
1,800
1,150
210—01 |10,000¢ X505F= 500
210—01 |20,000¢ x1571= 300
210—-05 |7,0009¥1 X507 = 350
650
210—01 |20,000¢ x1571= 300
210-05 |7,000€1 X507 = 350

48,540 45,540 3,000
48,540
210—-01 |20,0009¥ X 25%F= 500
210-01 |15,0009¥ x2Fx12¥= 360
18,199
210-02 |770,0009 x12¥8= 9,240
210—-02 |160,0009x12¥8= 1,920
210—-02 |300,0004x12¥8= 3,600
210-02 |10,000€¥ X7t x12¥= 840
210—02 |130,0009 x 23] = 260
210-02 |70,750€9x12¥= 849
210-02 |120,0009x12¥= 1,440
210—02 |50,000¢ x13]= 50
210—08 |1,393YX8AIZFX90Y x 2t = 2,006
10,800
210—06 |50,000€ xX60Y = 3,000
210—06 |50,000¢ 1209 = 6,000
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AR 1 s el S R A S R (ce] ;A9
o 1=}
FopRE ﬁij ’ ?}2 ’ ﬂg ’ A el A ArEU 20139d(A) | 2012d(B) | F#(A-B)
th) ol Au) g 210-13 |150,0009l x 129 = 1,800
6) =1jofn 220-01 (20,0009 x4 X219 = 1,680
7) A2 AE A B 6,655
71 A 2H] 8- 210-09 |200,0009) x 3F= 600
W) A7) 87 7] 210-09 |300,0009 x 3t = 900
) AJA #E] H-A 210-09 |1,000,0009 x 23]= 2,000
2} wrod =) 210-01 |55,0009 x53]= 275
vl Rz A 210-01 |220,0009 x 271 x 28] = 880
vl EAFEAA BA 210-09 |2,000,0009 x 13 = 2,000
8) A&y |4 8,340
H AT E 210-03 |45,0009 X 1007} = 4,500
W) HAbE 210-01 |50,000€ X 60%= 3,000
) $ogex 210-01 20,0009 x 42%= 840
4. BA 7|28 A 72,516 72,516 0
7}, A A 3t 46,944
D) AREEGH] 11,184
7} Bk 210-01 |1,200,000€= 1,200
) 7l 210-01 |416,00091 x 247 = 9,984
2) EujAn) 210-05 210,0009¥ x 249 = 5,040
3) HA -9 =) 230-01 |350,0009l x 129 = 4,200
4) odn 220-01 |1,055,0009 x 24 = 25,320
5) A ;M F o] FE =211 250—02 [100,0009 x12¥= 1,200
o 257 93} 20072
D Lduk-<d] 6,192
7} B 210-01 |1,200,00091= 1,200
) g 210-01 |416,0009 X124 = 14,992
2) E v Aln) 210-05 |210,0009 X 127 = 2,520
3) AL = n) 230-01 |250,0009 % 129 = 3,000
4) =jolu] 220-01 |1,055,0009% 12 = 12,660
5) A A FH =710 250-02 |100,0009l x 129 = 1,200
5. EA A2 T3] 7,400 7,400 0
W — AFAN - 7RG - VG - AFuEY Y 30/32




2 =]
?é ’ ?}ij ’ ﬂg ’ Ab i < == A5 A= e 20139 (A) | 20129 (B) | TH(A-B)
7}, Rk v 2,236
D 7149 210-01 |800,0009= 800
2) NAS 210-01 |359,0009 x4 = 1,436
1}, Bt Al 210-05 210,0009¥ x4 = 840
o} B FE=%1H) 230—01 |100,0009 x12¥= 1,200
2}, ol n) 220—01 |481,000¢ x 47 = 1,924
u}, 2 M GO F =2 H) 250-02 100,0009¥x129= 1,200
6. =A 7 EFS 9 A 36,340 35,100 1,240
b BT 210-01 |20,0009x10% <129 = 2,400
U 7 3EReE 210-01 |20,0009 X 10%x73]= 1,400
o} A A e 8= 210-01 |50,000€ X 40% x 23] = 4,000
2t T WLAA 9,333
D A7 es 210-02 470,000 x 129 = 5,640
2) A3} e =+ 210-02 |150,0009 x 129 = 1,800
3) AstrEe 210-02 |50,0009 x12¢¥= 600
4) ANAAES AN G 210-02 96,5009 x 23]= 193
5) A7 A A AFTTE 210-02 |100,0009 x 23] = 200
6) =T 23| H) 210-15 300,0009 %37 #= 900
ul, 29 o= 73n] 220-01 70,0009 x4 x 69 = 1,680
vf, AW 210-08 |1,393€ x8A1Zkx 90 X 7= 7,021
A}, AP Gy 210-08 |1,393€ x8A17kx 90 x 2th= 2,006
of, F-elAn & 210-13 150,0009¥ x129= 1,800
2}, 2 A g 62 g 210-09 100,000€ x103]= 1,000
P By B S Eui)| 210—09 45,0009 x12¢9= 540
7t A AT LFE 210-01 20,0009 x45%= 900
B}, B 1,400
1) ZTHEHEY 210—01 |100,0004¢ x 3% x 33]= 900
2) AAEA7|EY 210-01 |250,0009 x 2%= 500
o, A A 2,860
1) 257] 430—-01 |700,0009 x 3t} = 2,100
2) vl 430-01 |380,0009 x 2tj= 760
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A s B = i e A SR (ce] ;A9
= o i=]
wop g 32 ’ gl b Ayl == RENE 2013d(A) | 2012d(®B) | Z2(A-B)
FEPA 7| BA A 451,844 0 451,844
IR PP E 451,844 0 451,844
1. NS S A 451,844 0 451,844
7h g s A S 422,400
1) 2= eln] 410-01 |600,0009 X 704m'= 422,400
L A1 ek 24,804
1) A]A2H] 24,539
7 ®olel A 420-03 |4,445,0009 x 1t} = 4,445
Wy REx% 420-03 44,0009 %171 m'= 7,524
) AEiE g2 420-03 |419,0009 X 30m= 12,570
2) Al Erjy) 420-05 |24,539,0009 x 1.08%= 265
o FEEA T 4,640
1) A28 (RAFE A v 420-03 |4,640,0009 x 12 = 4,640
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